Par 5, stroke 9

licele 1 yellew



out of bounds

Par 4, stoke 1

(i)

liele 2 yellew



Par 5, stroke 11

licele = yellow

out of bounds
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Par 3, stroke 17

licele 4 yellew



{155 203

23

Par 4, stroke 3

liele & yellew



Par 4, stroke 7

licele € yellew



lo 7

Par 3, stroke 15

liele 7 yellew



107

Par 4 stroke 13

liele & yellew



774)/(9

Par 4, stroke 5

liele € yellew

out of bounds




169

Hole 1 red



Hote 17

Par 5, stroke 2

Hole 2 red



Par 4, stroke 6

Hole 3 red
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Par 4, stroke 4

Hole 4 red



Hote 14

Par 3, stroke 16

Hole 5 red



Hobo 15

Par 4, stroke 10

Hole 6 red



out of bounds

(ole 16

Par 4, stroke 4

Hole 7 red



107

Par 3, stroke 18

Hole 8 red



164



